MiLLI EGITIM BAKANLIGI

BULENT ECEVIT ANADOLU LISESi ve 20 TEMMUZ FEN LIiSESI

YERLESTIRME SINAVI
25 HAZIRAN 2022 CUMARTESI

1. OTURUM SORU KiTAPCIGI
TURKCE - MATHEMATICS - SCIENCE AND TECHNOLOGY

Aday No Lttt e e e e e e e e e e e e —— e e e e anbaeaaeeanraes

OGRENCILERIN DIKKATINE!

1. Bu soru kitapg¢igi 13 sayfadan olusmaktadir.

2. Bu kitapgik; 25 Tirkce, 25 Matematik ve 25 Fen ve Teknoloji sorusu icermektedir.

3. Cevap kagidinin Gzerinde adiniz, soyadiniz ve aday numaraniz bilgisayar tarafindan
yazilmis ve kodlanmistir.

4. Cevap kagidi tizerindeki tim isaretlemeleri kursun kalemle yapiniz.

5. Cevap kagidinizi burusturmayiniz ve Uzerine gereksiz isaret koymayiniz.

6. Her soru icin dort farkli secenek verilmistir. Bu seceneklerden sadece bir tanesi dogru
yanit olup digerleri yanlistir.

7. Soru kitapgigl tUzerindeki bos yerleri islem yapmak i¢in kullanabilirsiniz.

8. Sinav sonuglarina www.mebnet.net adresinden ulasabilirsiniz.

SALON BASKANI SINAVINIZ BASLAMISTIR UYARISINDA BULUNMADAN
SORU KITAPCIGINI ACMAYINIZ.



¢ ¢ 0¢ I AVNIS I W¥ILSITTYEIA




TURKCE

YS 2022
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2)
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Asagidaki ciimlelerden hangisinde baskasinin
diisiincesine katilma anlami vardir?

A) Arkadasiminki gibi davraniglar sonunda hep
problemlere neden olur.

B) Biz, dusiincelere karsi her zaman saygiliyiz.
C) Babamin dedigi gibi insan, hep dogrunun pesinden
yurimeli.

D) Korkular, insanin kendini gelistirmesini engeller.

Asagidakilerden hangisi hikayenin 6geleriyle ilgili bir
bilgi degildir?

A) Hikaye, parasi olmadigi icin gemiye kacak binen bir
gencin zorluklar icinde gegen yolculugunu
anlatmaktadir.

B) Kahraman, on sekiz yasinda geng bir delikanhdir.
Ailesine yiik olmamak igin is bulabilecegi bir yere
gitmeye calismaktadir.

C) Hikaye, Girne Limani, gemi ve Mersin'de gecmektedir.

D) Hikaye sade bir dille yazilmis, yer yer halk agzinda
kullanilan kelimelere yer verilmistir.

icinde soru ciimlesi bulunan sirali ciimlelerde eger
ikinci cimle soru anlami tagimiyorsa climlenin sonuna
soru isareti konmaz.

Buna gore, se¢eneklerden hangisinde bog parantezle
gosterilen yere soru isareti getirilemez?

A) Her isi yapan insan elidir kardesim, anladin mi ( )

B) Bu kutulari neden yan yana dizmisler, kimse
bilmiyor ( )

C) Bu yil hangi oyunlarin oynanacagini Ali'den baska
kim biliyor ( )

D) Onu ne kadar sevdigimi, saydigimi sen de anladin
mi ()

4) Segeneklerden hangisinde “gormek” fiili “Yiizi bir
yone dogru olmak, bakmak.” Anlaminda kullaniimistir.

A) Her sabah penceresinde kiictik bir kus goriiyordu.

B) Kimseye deger vermiyor, gozl yalniz kendini
goriiyordu.

C) Bu bina uzun zamandan beri ilk kez tamirat
goriiyordu.

D) Kuguclk odasi, karsi daglarin karli doruklarini
goriyordu.

5) Seg¢eneklerden hangisi dgelerine ayrilirken yanhshk
yapilmistir?

A) Ninemden 6grendigim en gilizel masallari/
kardeslerime/ anlatiyordum.

B) Sen giiliince/ her sey /glllyor.

C) Kimsenin eline almak istemedigi/ koca koca kitaplar/
okurdu.

D) Sarkilarini/ severek /dinlerdik.

6) Seceneklerden hangisinde birden fazla fiilimsi
kullanilmigtir?

A) Bir kus sesi gelir dudaklarindan
B) Gozlerin, gdnlimde agan nergisler
C) Disen opuslerdir dudaklarindan

D) Mor akasyalarda lrperen seher

7) Asagidakilerden hangisinde zarf tiimleci
vurgulanmistir?

A) Misafirler icin yapilan yemeklerden kimseye
¢aktirmadan yediler.

B) Dun gece arkadaslarimla sinemaya gidip ¢ok guzel
bir film izledik.

C) Son sarkidan 6énce dinleyicilerine tesekkir etti.

D) Arkadasimin arkasindan ylriiyen adami taniyacak
gibi oldum.

YS 2022
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365 glinde tamamlar ancak Merkiir icin bu slre 88
glndir.

2. ABD'de bulunan bilim ve sanat miizesi Exploratorium
kendi internet sitesinde, dogum tarihinizi girdiginizde
diger gezegenlerde kag yasinda oldugunuzu
ogrenebileceginiz bir uygulamaya yer vermis.

3. Yani, Merkiir'de bir yil cok daha hizl geger!

4. Bu da her bir gezegende bir glinin ve bir yilin
uzunlugunun farkli olmasi anlamina geliyor.

5. Glnes Sistemi'ndeki gezegenlerin her birinin hem
kendi ekseni ¢evresindeki donis stiresi hem de Glnes
cevresinde bir tur dolanma siresi birbirinden farkl.

6. Bu durumda 1 Eyliil 2012 tarihinde dogan biri Diinya'da
10 yasindaysa Merkiir'de 41 yasinda olur.

Yukarida siralan degistirilerek verilmis olan ciimlelerin
dogru dizilisi agagidakilerden hangisidir?

A) 5-2-1-6-3-4
B) 2-5-4-1-3-6
C) 5-1-4-2-6-3
D) 2-3-4-5-1-6

Arkadaslarina ¢ok sert sozler soyledi.
Adam adamdan korkmaz, utanir.
Gidemedigin yer senin degildir.

Yukarnidaki ciimleler yapisina gore incelendiginde
seceneklerden hangisinin 6rnegi yoktur?

A) Bagh Cimle
B) Basit Ciimle
C) Sirali Cimle
D) Birlesik Cimle
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11)

12)
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8) 1. Ornegin, Diinya Giines gevresinde bir tur dolanmasini | 10) Asagidaki eslestirmelerden hangisi yanlistir?

A) Diyelim ki okula sabah sekiz gibi vardik. - varsayim
climlesi

B) Kapiyi yavasca kapatirsan girulti kimseyi rahatsiz
etmez. - gereklilik cimlesi

C) Oraya otur ve yerinden kalkma - emir ciimlesi

D) iste simdi yandik. - Ginlem ciimlesi

Cami ¢cama catarlar
Cama kursun sikarlar
Lefkosa'nin kizlari
Bize ¢alim satarlar

Yukaridaki dértliikle ilgili segeneklerden hangisi
soylenemez?

A) 7'li hece 6l¢lslyle yazilmistir.
B) Uyaklanisi aaba seklindedir.
C) Konusu, Lefkosa kizlarinin davraniglaridir.

D) Misra sayisina gére yedekli manidir.

Arkadasinin evine gitmek igin yola ¢ikan Ayse, yolda
kaybolur. Arkadasina telefon ederek yolu bulamadigini
soyler ancak nerede oldugunu da bilmemektedir.
Bunun lzerine arkadasinin gelip kendisini alabilmesi
icin etrafta neler oldugunu anlatmaya baslar.

Buna gore Ayse, arkadasina nerede oldugunu anlatirken
hangi anlatim bigimini kullanmaldir?

A) Oykiilleme
B) Acgiklama

C) Betimleme

D) Tartisma
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(13, 14, 15, 16, 17, 18 ve 19. sorular asagidaki parcaya | 14) Metin, seceneklerden hangisini cevaplamaz?
gore yanitlayiniz.)

N -
Bilimin amaci evren hakkinda bilinmeyeni ortaya c¢ikarmak A) Bilimin amaci nedir?

ve evreni anlamak. Bu amaca pek cok gdzlem, arastirma ve B) Bilim, amacina ulagmak icin hangi ydntemleri
deney yoluyla ulasiliyor ve sonunda da bilimsel bilgi elde kullanir?

ediliyor. Ulasilan bilginin topluma ya da en azindan diger C) Sanat, bilimin amaclarina ulagsmasina hangi
bilim insanlarina anlasilabilir bir bicimde aktarilabilmesi de seviyede katki koyar?

bilimin goérevlerinden biri. iste tam da bu noktada bilimin D) Bilimsel resimlemenin ortaya cikisiyla ilgili
sanata bagvurmasi gerekebiliyor! 15. ylzyilda insan verilebilecek en eski 6rnek, hangi tarihe aittir?

anatomisinin daha iyi anlasiimasiyla bilimsel resimleme
onemli bir hale geldi. 1514-1564 yillari arasinda yasamis olan

Flaman anatomist Andreas Vesalius'un 1543 vyilinda 15) Metinden hareketle seceneklerden hangisine

yayimlanan, icinde bilimsel resimlemelerin de yer aldigi tip ulasilabilir?

kitabiyla birlikte, bilim ve sanat tam anlamiyla i¢ ice gegmeye
basladi. Glnimiizdeyse bilim yalnizca bilimsel resimlemede
degil, G¢ boyutlu modellemede de sanata basvuruyor.
Bilimsel resimlemenin ilk ne zaman ortaya ciktigl kesin olarak

bilinmiyor. Ancak papirisler tizerine ilkel cerrahi yontemlerin ve B) Bilimsel resimleme, bilgi aktarma ve 6grenme araci
olarak deger gormekte ve kullanilmaktadir.

A) insan anatomisi izerindeki arastirmalar bilimsel
resimlemenin degerini artirmaktadir.

iyilestirici 6zelligi olan bitkilerin resimlenmesi MO 400'lii yillara

kadar uzaniyor. Gegmiste goriintileme yontemleri gok gelismis C) Sanat ve bilim, bilimsel arastirmalarin bagladig ilk
olmadigindan bilimsel resimleme bilgi aktarmada ve andan itibaren i¢ ice ge¢mistir.

6grenmede vazgegilmez bir énem tagiyordu. Guniimizdeyse D) Bilim ve bilimsel arastirmalar baslangictan itibaren
tim teknolojik gelismelere karsin biyoloji, fizik, kimya, anatomi, sanatin en 6nemli konularindan birini olugturmustur.

hayvanbilim, fosil bilim, bilisim gibi pek ¢ok bilim dalinda siklikla
kullanilmaya devam ediyor. Ders kitaplarinda gordiiglimiiz DNA

molekdlli gizimleri ya da veteriner kliniklerinde gordiigiimiiz 16) Metinde diisiinceyi gelistirme yollarindan hangisine

hayvan resimleri biyoloji bilim dalina 6rnek olabilecek bilimsel agirlikh olarak yer verilmistir?
resimlemelerden. Bu biyolojik resimlemeler sayesinde diger

yontemlerle ortaya konulamayacak ayrintilar anlasilir hale .
. A) Ornekleme
geliyor.

B) Benzetme
C) Karsilastirma

13) Metnin yazilis amaci se¢eneklerden hangisinde D) Tanik gosterme

verilmigtir?

A) Bilim ve sanatin birbirini destekleyen disiplinler 17) Metinde anlatim tekniklerinden hangisi kullanilmigtir?
oldugunu ortaya koymak.

B) Bilimin gorevlerini yerine getirirken sanattan B
yararlandigini ortaya koymak. A) Oykileme

C) Sanatin ve bilimin varliginin milattan énceye B) Betimleme

dayandigini ortaya koymak. C) Aciklama

D) Sanatgilarin eser verirken bilimden yararlandiklarini D) Tartisma
ortaya koymak.
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18) Metnin tiirii segeneklerden hangisinde dogru olarak

19)

20)

21)

verilmigstir?

A) Makale
B) Fikra
C) Sohbet

D) Deneme

Bu pargaya konabilecek en uygun baslk se¢ceneklerden
hangisidir?

A) Sanat Her Yerde
B) Bilimin icindeki Sanat
C) Sanatin Konusu Bilim

D) Evren ve Sanat

Anlatim ozelliklerine gére “Ozgiin” olarak nitelenen bir
eserin ozelligi, seceneklerden hangisinde verilmistir?

A) Kolay okunabilir, séylenebilir.
B) Merak uyandirir.
C) Baska eserlere benzemez.

D) Siisten gosteristen uzaktir.

Beni seviyorsaniz eger ve anliyorsaniz,
Laboratuvarlarda sabahlayin, kahvelerde degil,
Bilim agartsin saclarinizi, kitaplar,
Ancak boyle aydinlanir o sonsuz karanliklar.
Mustafa Kemal'i anlamak aglamak degil,
Mustafa Kemal tlkisl sadece s6z degil.

Halim Yadgcioglu

Yukandaki siir, siir tiirlerinden hangisine 6rnektir?

A) Lirik

B) Epik

C) Didaktik
D) Satirik

YS 2022

22) Seceneklerden hangisinde anlatim bozuklugu

23

~

24)

25)

yapilmigtir?

A) Kultur seviyesindeki ¢okis, yaygin bir hastalik gibi
sarar toplumu.

B) Bk bir heyecan, bir haz icinde su satirlari
yaziyorum.

C) Yasliinsanlarin korona virtisiinden etkilenme riski
daha yuksektir.

D) Logar kapagini kapatmadiklari igin bir kisinin
yaralanmasina neden olan iki belediye galisani
iscinin isine son verildi.

Seceneklerden hangisinde alti gizili s6zcligiin yazimi
hatalhidir?

A) Sen hayatimdaki bir yanlismissin, keske seni hig
tanimasaydim.

B) Ben kosedeki bufeden size sandlvig getirebilirim.
C) Diin aksam gercekten cok gtizel bir film izledik.

D) Kendisini yalniz Bombay'a kadar gotiirecek tren
parasi vardi.

Asagidaki cimlelerden hangisinin fiili haber kipi
degildir?

A) Birkag hafta sonra yeni evimize tasindik.
B) Uzun, dik merdivenli bir yokusu cikardi.

C) Evin ikinci katini cikmadan havalar bozulmasin.

D) O, her zaman sinirli sinirli ve dogal olmayan gilusu
ile gliliyordu.

Seceneklerden hangisinde 6znel bir ifade vardir?

A) Sairin en son kitabi iki ytiz sayfadan olusuyor.
B) ilk ve son sayfalarda birer ask siiri var.

C) Arasayfalarda ise hayatin zorluklarini anlatan siirler
siralanmis.

D) Sair, hayatin sevgiyle baslayip sevgiyle bittigini
anlatmis herhalde.

TURKCE TESTI
BITMISTIR
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1)

2)

3)

According to the prime factor

) . . A2
algorithm on the right, Yvhat is 135 | B
the result of the operation cls
A+B+C+D?

15| 3
D|5
A) 273 1
B) 318
C) 323
D) 333

ENERES

In the pyramid above, "the product of the two numbers
at the bottom will be written in the box above".
According to this rule, what is the result of X-Y?

(V3275 ) -\24
(3 + 12

Which of the following is multilplied with the result of
the operation, then the result will be a natural number?

A) 7
B) (5
Q3
D) 2

4)

5)

6)

7)

Which of the following is not an identity?

A) -5x(2x - 3) = 15x - 10x°
B) (x+4)(3x-2)=3x"+10x-8
C) 3-X)(3+x) =x>-9

D) 9xy - 6 - 6x% + 4x = (3xy - 2)(3 - 2X)

In the triangle ABC in the figure;

Py (o]
m(ABC) = (3x - 27)

S o
m(ACB) =(x+9) and
|AC| > |AB|

(3x- 27 (x+9)
B C

what is the smallest integer value x can take?

A) 17
B) 18
C) 19
D) 20

4 of

After Nurdan spent % of her money, she gave 7

her remaining money to her sister Candan.

In the last case, Nurdan has 900 TL left. How much
money did Nurdan give to her sister Candan?

A) 1200 TL
B) 2000 TL
C) 2400 TL
D) 3500 TL

What is the slope of the line 2x — 8y + 20 = 0 in percent?

A) 20%
B) 25%
C) 50%
D) 75%

YS 2022
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8)

9)

10)

11)

MATHEMATICS

3 -
(-5)- 4277
37 (-2)"

What is the result of following operation?

A) 24
B) 32
C) 36
D) 48

A stationery shop sells 4 books and 5 notebooks
for a total of 100 TL. A student gives 100 TL for
3 books and 2 notebooks, receives 32 TL change.

What is the total price of 1 book and 1 notebook in
this stationery?

A) 16 TL
B) 20TL
C) 24TL
D) 28 7L

\1+% (W—M)

What is the result of following operation?

A) 0.04
B) 0.4
) 4
D) 40

An equal number of candies will be distributed to 81
students at a course center for passing their exams.
Since the total number of sugars is 3’ how many
candies will the each student get?

A) 9
B) 18
C) 27
D) 36

YS 2022

12)

13)

14)

a:3—\]_ and b:3+\]?,then what is the value of

a’+b’- 2ab?

A) 5
B) 9
C) 10
D) 20

(x +5) br

X br

Using four of the rectangles with side lengths x br and
(x + 5) br, the square shape above is created and

the shape is completely painted, including the square
region in the middle of the figure.

Which of the following algebraic expression gives
the area of the painted figure in br??

A) 4x%+ 20x + 25
B) 4x’- 20x + 25
Q) 4x2+ 20x - 25

D) 4x%+ 25

In the figure, the ladder of a fire truck is extended

17 meters to touch the top of the flagpole. The height

of the lower end of the ladder from the ground is

5 meters and the distance from the flagpole is 15 meters.

What is the length of the flagpole perpendicular to
the ground?

A) 8m
B) 11m
C) 13 m
D) 16 m



MATHEMATICS
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15) If "5 more than 11 times of a number is greater than | 19) B, C and D in the figure below are linear
or equal to 4 times of 3 more of the same number"; points,
which of the following is the correct representation of 60cm
. . [DE]L[DC], [AB]L[BC]
the value range of this number in real numbers on
the number line? |DE|= {x +3) cm D_Xcm -
IDC|=xcm ' © 48cm °
|BC|=48 cm (x+3)cm
|AB|=60 cm
A) d E
1 so what is |DE| in cm?
B) 3
1 A) 12cm
1 C) 18cm
D) ‘1_‘ D) 21cm

16)

17)

18)

Since the point A(2, a) is on the line 5x -8y - 34 =0,
what is a?

A) -6
B) -3
) 3
D) 6

2 2
What is K in the equation 2022 - 2018 = 160K ?

A) 41
B) 61
C) 81
D) 101

X+ 2 3x-2 =-x+i

3 5 3

What is the result of following operation?

A) -1
B) 0
) 1
D) 3

20)

21)

The rectangles ABCD and PRST are given on the square
floor below.

p | [ lc

Al | B|IR

HEEEEERE

Since ABCD ~ PRST, what is the similarity ratio between
these rectangles?

) ® >
— — —
N owle Rw N

=)

A mother's age is 8 times the age difference of her
2 children. If the mother's age after four years is
9 times the age difference of her children, which of
the following is false?

A)
B)
Q)

Mother is 32 years old.
The age difference of the children is 4.

After 4 years, the age difference of the children
will be 8.

Children's ages cannot be calculated from
the information given in the question.

D)

YS 2022
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22) In which step was the first mistake made in the algebraic | 24) Which of the triangles given below has a different area
operation given below? measure than the others?
(x=3)(-2x+5)—4(x—1) = A | E D
> 1. Step / \
X-—2X +5x—3--2x—15—-4(x—1) = \
2. Step P
2 > / F
—2X+5x+6x—15-4x—-4 = /I
> 3. Step B c I
—2%%+ 11x—15—4x — 4 = K / II
> 4. Step \\\ |
—2x%+ 7x—19 = AN /]
N y |
L M
A) 1. R T
B) 2.
C) 3. P
D) 4. A) ABC
PN
B) DEF
PN
C) KM
PN
A
23) D) PRT
AN
25) Which of the graphs below belongs to the line
2x+3y-12 =07
B c y y
: . . ) . A) B)
In the right angled triangle ABC in the figure, [BD] is 4 /
the angle bisector. 5 X
X -4
-6
m(ABC) = 90° e J e
P o
m(ADB) = 83
Which side of the triangles ABD and BCD is the shortest? Y y
Q) ‘ D)
'\6 ) \4
A) [AD] R x
- 6
B) [BC] S\
C) [CD]
D) [BD]
END OF THE
MATHEMATICS TEST

YS 2022 8
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1) Astudent wants to show the oxygen and carbon 3) Which of the options given below shows the correct
dioxide cycle between a plant and a mouse. cycle for the gasses that are produced during
photosynthesis and respiration?
/V 02 \
A) [Respiration | | Photosynthesis |
\ C02 /
Which of the following is correct about the experiment co
set up by the student? / 2 ™
B) |Respiration | | Photosynthesis |
A) In the experiment mouse is producing oxygen. \ H2 ‘/
B) The experiment was set up correctly by the student.
C) Food should be given to the mouse and also light /' H2 T\
should be provided for the experiment. C) [Photosynthesis| [Respiration]
D) Inthe e.xpenmeth plant is prgdgcmg oxygen and \ 0 /
mouse is producing carbon dioxide. 2
2) Afood web is given below. D) |Photosynthesis| |Respiration|
hawk \ Coz /
/ f \
lizard II/ snake
/ Ifl \ 4) Some information is given below about the DNA
/ molecule.
grasshopper rabbit mouse
A I. It carries the genetic information of
\ the organism.
\
'\! II. It has a double helix structure.
plant III. The smallest unit of DNA is called a
nucleotide.
According to the food web, which statement below IV. In the DNA molecule, adenine base and
is not correct? guanine base, thymine base and cytosine
base make hydrogen bonds together.
A) Plant is a producer, rabbit is a herbivore and hawk Which of the information given above is correct?
is a carnivore.
B) Hawk is both a secondary and a tertiary consumer. A) I and II
C) If the number of hawks decreases, the number of B) I, I and III
lizards, snakes and rabbits will increase. €) L I and IV
D) If all of the rabbits dle‘ due.to a disease, the r?umbers D) I, 11, TIT and IV
of the all other organisms in the food web will stay
the same.

9 YS 2022
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5) Inthe diagram given below cell X divides by mitosis to | 8) A country's energy obtaining status is given below.
form cells Y and Z.
0,
@ / 0% \ % Coal + Petrol
[ \
/ \ [ | I:I Buying from another
©» @ Lo ) e
I:l Recycling
Which of the information given below is not correct
about this division?
According to this information which of the following
A) During the formation of cells Y and Z is not correct about this country?
the chromosome number stays the same.
B) Cells X,Y and Z all have the same genetic structure. A) Waste amount and environmental pollution is
C) CellsY and Z have the same organelle variety. reduced.
D) Cell Y has a different function than cell Z. B) The protection of natural resources is very limited.
C) The number of patients with respiratory diseases
is high due to air pollution.
6) Reproduction by one parent without producing gametes D) Energy savings has a little contribution to
by mitosis is called asexual reproduction. the country's economy.
is the fastest type of asexual
reproduction. Single-celled organisms such as bacteria,
euglena and amoeba reproduce by this type of
reproduction.
. . . 9) A section of periodic table is given below.
Which of the following should be placed to fill in
the blank given above? ] v |
X T
A) Binary Fission >
B) Budding
C) Vegetative Reproduction
D) Reproduction by zygote Which statement shows the correct order of elements
X, Y, Z and T starting from the smallest atomic number
to the largest atomic number?
7) Sickle cell anemia is a disease caused by a recessive
allele. Ali and Ayse are parents who both do not have A) X<Y<Z<T
the disease. Out of their three children two are healthy B) Y<X<T<Z
while one of them has sickle cell anemia disease. Q) X<Z<T<Y
According to the information given above choose
. D) Z<T<X<Y
the answer which shows the correct genotypes for
Ali and Ayse.
A) TtxTT
B) TTxtt
C) TtxTt
D) Ttxtt
YS 2022 10
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10) Some properties of metals and non-metals are given 12) To balance the equation given below 1 is used infront of

below. the molecule which has the most number of atoms.
I. They are ductile and malleable. CeH;,05 + 0, — CO, + H,0
II. They are usually in the form of molecules like
X,in the nature. According to this information what coefficient should
III. They do not form compounds with each other. be used infront of the O, molecule?

IV. They do not conduct heat or electricity
(except graphite)

A) 2
V. They can be solids, liquids or gases at room B) 4
temperature. )
VI. They have shiny surfaces. Q) 6
. . D) 9
Which of the answers given below show the correct
group of properties?
Metals Non-Metals 13) The ions formed by substances X, Y and Z
A) I-1I-1II IV-V-VI when they react with water are given below.
B) II-1IV-V I-1II- VI X —> Forms OH ion.
+.
C) V-VI-II [-M-1V Y — Forms H ion.

D) I-1II - VI H-1V-V Z — Does not form ions.

According to the information given above, which
answer shows the correct positions of the substances
X, Y and Z on the pH meter?

1
11) A diagram which shows a bonding between two flourine A) 0 I 7 T =4
atoms is given below. X 7 Y
0 7 14
B) F— T i AL B I i
Y VA X
. 0 7 14
C) T i LI R B B B i
VA X Y
0 7 14
Which of the statements given below is not correct? ) I L L e
X Y z
A) It has a molecular structure.
B) Itis formed by electron transfer. 14) Temperature is the average kinetic energy of the particles
C) The bonding is between two non-metal atoms. in a substance. Temperature is a physical quantity and

it is measured by using a thermometer.
D) The electrons are shared together. . . . .
Which of the following units can not be a unit for the

temperature measured by a thermometer?

A) Calories (Cal)
B) Celcius (°C)
C) Kelvin(K)

D) Fahrenayt (F)

11 YS 2022



YS 2022

15)

16)

17)

SCIENCE AND TECHNOLOGY

When you heat up an iron rod by using a heat energy
of 2300 J, temperature of the rod increases by 50 °C.

What is the mass of the iron rod in grams?
(Specific heat capacity of iron = 0.46 1/g°C)

A) 100
B) 80
C) 20
D) 10

An object “K” which has a mass of 50 grams is a vapour
at 90 °C. The temperature-heat graph formed when
the object “K” is cooled down is shown below.

4 Temperature(°C)
90
70
0 Heat(Cal)
500 1000 00 3500
-20

If we subtract latent heat of vaporization from the latent
heat of fusion of the object K, what will be the result?
(Lf - LV = ?)

A) 0
B) 10
C) 20
D) 30

A student carries his school bag with a weight of 200 N
on his back. He walks 50 meters to reach his classroom.

What is the work done in joules against the force of
gravity by the student?

A) 10000
B) 1000
Q) 4

D) 0

YS 2022

18)

19)

20)

12

Some information about basic machines is given below.

I. It changes the size, type or the direction of
the force.
II. If there is a gain in force, there will be a gain in
distance in the same amount.
III. It dose not provide gain in work done or energy.
IV. It makes it easier to do work.

Which of the statement(s) given above is/are not correct?

A) Only 1I

B) I and III

C) I, II and III
D) I, IIl and IV

We want to lift a solid barrel of 600 N which is standing
on the ground into a truck bed at a height of 1.5m.

If the maximum force applied to the barrel is 200 N,
what should be the length of the planks in meters that
will be used on the inclined plane?

A) 1.5m =
B) 3m
C) 4m
D) 45m

The pulley I and II given below are in balance and a load
of 1200N is weighing on them.

I 11

Load

Load

If the force applied on pulley I'is F, and the force
applied on pulley Il is F,, what is the ratio of F,/F,?

A) 4/3
B) 3/4
Q) 1/2
D) 1
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21)

22)

Two gears with different numbers of teeth are given

i

Gear A has 5 teeth and gear B has 15 teeth, when gear
B makes 2 turns in the direction of the arrow, how many
turns will gear A make and to which direction?

A) 6 tours in the direction of 1
B) 3 tours in the direction of 2
C) 6 toursin the direction of 2

D) 3 tours in the direction of 1

The following experiment was performed in a laboratory
using a container of water and a laser.

\ Air

What is the reason for the change in the direction of
the light in the experiment?

A) Because light travels as waves.
B) Light passes to a medium of different density.

C) Laser lights are refractive.

D) Differences between water and air temperatures.

23)

24)

25)

13

Convex lenses can cause fires by collecting the light
rays passing from it at one point.

According to this information which of the following
can cause a fire?

Principal axis

Principal axis

Principal axis

Principal axis

Energy forms that can be used with a high level of
efficiency in many areas and whose conversion to
unwanted (lost) energy is much less than others are
called High Quality Energy.

Which of the following is a higher quality energy type
compared to others?

A) Chemical Energy
B) Heat Energy

C) Electrical Energy
D) Nuclear Energy

Which of the following statements is the most
appropriate for solar energy, which is the most
important alternative energy source for our country?

A) The installation time is very long and it requires high

cost investment.
B) High amount of water is required for its installation

and operation.

C) High-level security measures are required for its

installation and operation. It is dangerous.
D) Itis very economical in terms of use and installation
and also it does not harm the environment.

END OF THE
SCIENCE AND TECHNOLOGY
EXAM

YS 2022
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